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CM2200, Fall 2009, Homework #2

Complete line diagrams and answer questions.

Remember IN = OUT. Attach all your calculations.

Carry out intermediate calculations to 4 decimal places to minimize roundoff errors.

1: Rougher Circuit (10 points)

Feed
f=25.00 % Fe
F=100% wt.
Tails Concentrate
t =14.25% Fe ¢ =45.95% Fe
T = C =
a. % Wt. Recovery =
b. % Fe Recovery =
2: Rougher-Scavenger circuit (40 points)
Feed
25.00% Fe =f
100% =F
>—
Rougher Tails %
14.25% Fe = a Rougher Conc.
Scavenger Conc. _ 55.95% Fe=c
23.89% Fe=b ¥ —— wt=A
% wt. = C
% wt. =B
—< E

a. % Fe Recovery =
b. % Recirculating Load =

c. Enrichment Ratio =

Scavenger Tails
5.03% Fe=t

% wt. =T
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3: Rougher-Cleaner Circuit (60 points)

Feed
9% Cu=f
100% wt. =F
-

— -

Rougher Conc.

% . 19.64% Cu =a Cleaner Tails
Rougher Tails #0.79% Cu=b
0.11% Cu =t % wt.=A 13.06% wt. =B

9 wt.=T

-,
>’l<—<

Cleaner Conc.
25.00% Cu=c
% wt. = C

a. % Cu Recovery =

b. Enrichment Ratio =
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4: Rougher-Cleaner-Scavenger Circuit (100 points)

Feed
* 25.00% Fe = f
100% wt. =F
!
R R
Rougher Feed
% 30.00% Fe =r
Scavenger Conc. % wt. = R
%Fe=b ¥ Y - Cleaner Tails
— - J
*30. =
28.27 % wt. =B Rougher Tails 30.84% Fe =d
16.50% Fe = a Rougher Conc. % wt.=D
% Fe =e — -
% wt. = A
% wt. =E
7<+
"
Scavenger Tails
3.65% Fe =t %
— %wt=T Cleaner Conc.
66.55% Fe =c
a. % Fe Recovery = % wt.= C

b. % Recirculating Load =
¢. % Fe Loss =



